

**Theorem I.1:**  $U_{m+1} \equiv (D + f_{m+1})U_m$  ,  $(m \in \mathbb{N} \geq 0)$

$$\Rightarrow U_n = (D + f_n)U_{n-1} = (D + f_n)(D + f_{n-1}) \cdots (D + f_3)(D + f_2)(D + f_1)U_0 = \prod_{i=1}^n (D + f_i)U_0$$

$$U_n = \prod_{i=1}^n (D + f_i)U_0 = (D + f_n)U_{n-1} = U'_{n-1} + f_n U_{n-1} = \left( U_{n-1} e^{\int f_n dx} \right)' e^{-\int f_n dx}$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int e^{\int (f_2 - f_3) dx} \left( \dots \int e^{\int (f_{n-2} - f_{n-1}) dx} \left( \int e^{\int (f_{n-1} - f_n) dx} \left( \int U_n e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right)$$

*Proof:*

$$U_{m+1} \equiv (D + f_{m+1})U_m \text{ , } (m \in \mathbb{N} \geq 0)$$

$$\Rightarrow U_1 = (D + f_1)U_0 \text{ , } U_2 = (D + f_2)U_1 = (D + f_2)(D + f_1)U_0 \text{ , } U_3 = (D + f_3)U_2 = (D + f_3)(D + f_2)(D + f_1)U_0 \text{ , } \dots$$

$$\Rightarrow U_n = (D + f_n)U_{n-1} = (D + f_n)(D + f_{n-1}) \cdots (D + f_3)(D + f_2)(D + f_1)U_0 = \prod_{i=1}^n (D + f_i)U_0$$

$n = 1 :$

$$U_1 = (D + f_1)U_0 = U'_0 + f_1 U_0 = \left( U_0 e^{\int f_1 dx} \right)' e^{-\int f_1 dx}$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int U_1 e^{\int f_1 dx} dx + c_1 \right)$$

$n = 2 :$

$$U_2 = (D + f_2)(D + f_1)U_0 = (D + f_2)U_1 = U'_1 + f_2 U_1 = \left( U_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx}$$

$$= \left( \left[ \left( U_0 e^{\int f_1 dx} \right)' e^{-\int f_1 dx} \right] e^{\int f_2 dx} \right)' e^{-\int f_2 dx} = \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{-\int f_2 dx}$$

$$\Rightarrow \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} = \int U_2 e^{\int f_2 dx} dx + c_2$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int U_2 e^{\int f_2 dx} dx + c_2 \right) dx + c_1 \right)$$

$n = 3 :$

$$U_3 = (D + f_3)(D + f_2)(D + f_1)U_0 = (D + f_3)U_2 = U'_2 + f_3 U_2 = \left( U_2 e^{\int f_3 dx} \right)' e^{-\int f_3 dx}$$

$$= \left( \left[ \left( U_0 e^{\int f_1 dx} \right)' e^{-\int f_1 dx} \right] e^{\int f_2 dx} \right)' e^{-\int f_3 dx} = \left( \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{-\int f_3 dx}$$

$$\Rightarrow \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{\int (f_3 - f_2) dx} = \int U_3 e^{\int f_3 dx} dx + c_3$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int e^{\int (f_2 - f_3) dx} \left( \int U_3 e^{\int f_3 dx} dx + c_3 \right) dx + c_2 \right) dx + c_1 \right)$$

$n = 4 :$

$$U_4 = (D + f_4)(D + f_3)(D + f_2)(D + f_1)U_0 = (D + f_4)U_3 = U'_3 + f_4 U_3 = \left( U_3 e^{\int f_4 dx} \right)' e^{-\int f_4 dx}$$

$$= \left( \left[ \left( \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{-\int f_3 dx} \right] e^{\int f_4 dx} \right)' e^{-\int f_4 dx}$$

$$= \left( \left( \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{\int (f_4 - f_3) dx} \right)' e^{-\int f_4 dx}$$

$$\Rightarrow \left( \left( \left( \left( U_0 e^{\int f_1 dx} \right)' e^{\int (f_2 - f_1) dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{\int (f_4 - f_3) dx} \right)' e^{-\int f_4 dx} = \int U_4 e^{\int f_4 dx} dx + c_4$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int e^{\int (f_2 - f_3) dx} \left( \int e^{\int (f_3 - f_4) dx} \left( \int U_4 e^{\int f_4 dx} dx + c_4 \right) dx + c_3 \right) dx + c_2 \right) dx + c_1 \right)$$

**If:**

$$U_N = \prod_{i=1}^N (D + f_i)U_0 = (D + f_N)U_{N-1} = U'_{N-1} + f_N U_{N-1} = \left( U_{N-1} e^{\int f_N dx} \right)' e^{-\int f_N dx}$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int e^{\int (f_2 - f_3) dx} \left( \dots \int e^{\int (f_{N-2} - f_{N-1}) dx} \left( \int U_N e^{\int f_N dx} dx + c_N \right) dx + c_{N-1} \right) dx + c_{N-2} \dots \right) dx + c_2 \right) dx + c_1$$

$$\dots \int e^{\int (f_{n-2}-f_{n-1})dx} \left( \int e^{\int (f_{n-1}-f_n)dx} \left( \int U_n e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1$$

$n = N :$

$$\Rightarrow U_{N+1} = \prod_{i=1}^{N+1} (D + f_i) U_0 = (D + f_{N+1}) U_N = U'_N + f_{N+1} U_N = \left( U_N e^{\int f_{N+1} dx} \right)' e^{-\int f_{N+1} dx}$$

$$\Rightarrow e^{-\int f_{N+1} dx} \left( \int U_{N+1} e^{\int f_{N+1} dx} dx + c_{N+1} \right) = U_N$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{N-2}-f_{N-1}) dx} \left( \int U_{N+1} e^{\int f_{N+1} dx} dx + c_{N+1} \right) dx + c_N \right) dx + c_{N-1} \right) dx + c_{N-2} \dots \right) dx + c_2 \right) dx + c_1$$

□

**Corollary I.1:**  $\prod_{i=1}^n (D + f_i) y = 0$

$$\Rightarrow y = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( c_n \int e^{\int (f_{n-1}-f_n) dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right)$$

*Proof:*

By theorem I.1:

$$\Rightarrow U_n = (D + f_n) U_{n-1} = (D + f_n)(D + f_{n-1}) \dots (D + f_3)(D + f_2)(D + f_1) U_0 = \prod_{i=1}^n (D + f_i) U_0$$

$$U_n = \prod_{i=1}^n (D + f_i) U_0 = (D + f_n) U_{n-1} = U'_{n-1} + f_n U_{n-1} = \left( U_{n-1} e^{\int f_n dx} \right)' e^{-\int f_n dx}$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int U_n e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1$$

So, for:  $y \equiv U_0$  &  $U_n = 0$  :

$$\Rightarrow 0 = U_n = (D + f_n) U_{n-1} = (D + f_n)(D + f_{n-1}) \dots (D + f_3)(D + f_2)(D + f_1) U_0 = \prod_{i=1}^n (D + f_i) U_0$$

$$\Rightarrow 0 = U_n = \prod_{i=1}^n (D + f_i) y = (D + f_n) U_{n-1} = U'_{n-1} + f_n U_{n-1} = \left( U_{n-1} e^{\int f_n dx} \right)' e^{-\int f_n dx}$$

$$\Rightarrow y = U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int (0) e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1$$

$$= e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( c_n \int e^{\int (f_{n-1}-f_n) dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right)$$

□

**Corollary I.2:**  $\prod_{i=1}^n (D + f_i) y = W$

$$\Rightarrow y = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int e^{\int (f_{n-1}-f_n) dx} \left( \int W e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right) +$$

$$\Rightarrow y = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( c_n \int e^{\int (f_{n-1}-f_n) dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right) +$$

$$+ e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int e^{\int (f_{n-1}-f_n) dx} \left( \int W e^{\int f_n dx} dx \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right)$$

$$= y_h + y_p$$

*Proof:*

By theorem I.1:

$$\Rightarrow U_n = (D + f_n) U_{n-1} = (D + f_n)(D + f_{n-1}) \dots (D + f_3)(D + f_2)(D + f_1) U_0 = \prod_{i=1}^n (D + f_i) U_0$$

$$U_n = \prod_{i=1}^n (D + f_i) U_0 = (D + f_n) U_{n-1} = U'_{n-1} + f_n U_{n-1} = \left( U_{n-1} e^{\int f_n dx} \right)' e^{-\int f_n dx}$$

$$\Rightarrow U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-1}-f_n) dx} \left( \int U_n e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1$$

So, for:  $y \equiv U_0$  &  $U_n = W$  :

$$\Rightarrow W = U_n = (D + f_n) U_{n-1} = (D + f_n)(D + f_{n-1}) \dots (D + f_3)(D + f_2)(D + f_1) U_0 = \prod_{i=1}^n (D + f_i) U_0$$

$$\Rightarrow W = U_n = \prod_{i=1}^n (D + f_i) y = (D + f_n) U_{n-1} = U'_{n-1} + f_n U_{n-1} = \left( U_{n-1} e^{\int f_n dx} \right)' e^{-\int f_n dx}$$

$$\Rightarrow y = U_0 = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int (W) e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1$$

$$= e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( \int e^{\int (f_{n-1}-f_n) dx} \left( \int W e^{\int f_n dx} dx + c_n \right) dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right) +$$

$$\Rightarrow y = e^{-\int f_1 dx} \left( \int e^{\int (f_1-f_2) dx} \left( \int e^{\int (f_2-f_3) dx} \left( \dots \int e^{\int (f_{n-2}-f_{n-1}) dx} \left( c_n \int e^{\int (f_{n-1}-f_n) dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right) +$$

$$\begin{aligned}
& + e^{-\int f_1 dx} \left( \int e^{\int (f_1 - f_2) dx} \left( \int e^{\int (f_2 - f_3) dx} \left( \dots \int e^{\int (f_{n-2} - f_{n-1}) dx} \left( \int e^{\int (f_{n-1} - f_n) dx} \left( \int W e^{\int f_n dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c \right) \right) \\
& = y_h + y_p
\end{aligned}$$

□

**Lemma II.1:**  $\sum_{i=1}^n u(i, n+1) + \sum_{i_1=1}^{n-1} \sum_{i_2=i_1+1}^n u(i_1, i_2) = \sum_{i_1=1}^n \sum_{i_2=i_1+1}^{n+1} u(i_1, i_2)$

*Proof:*

$n = 2$  :

$$\begin{aligned}
\sum_{i=1}^n u(i, n+1) + \sum_{i_1=1}^{n-1} \sum_{i_2=i_1+1}^n u(i_1, i_2) &= u(1, 2+1) + u(2, 2+1) + u(1, 2) \\
\sum_{i_1=1}^n \sum_{i_2=i_1+1}^{n+1} u(i_1, i_2) &= u(1, 2) + u(1, 3) + u(2, 3) = \sum_{i=1}^n u(i, n+1) + \sum_{i_1=1}^{n-1} \sum_{i_2=i_1+1}^n u(i_1, i_2)
\end{aligned}$$

So, for:  $n = N$  :

$$\begin{aligned}
\sum_{i=1}^N u(i, N+1) + \sum_{i_1=1}^{N-1} \sum_{i_2=i_1+1}^N u(i_1, i_2) &= \sum_{i_1=1}^N \sum_{i_2=i_1+1}^{N+1} u(i_1, i_2) \\
\Rightarrow \sum_{i_1=1}^N \sum_{i_2=i_1+1}^{N+1} u(i_1, i_2) - \sum_{i_1=1}^{N-1} \sum_{i_2=i_1+1}^N u(i_1, i_2) &= \sum_{i_1=1}^N u(i_1, N+1) + \sum_{i_1=1}^N \sum_{i_2=i_1+1}^N u(i_1, i_2) - \sum_{i_1=1}^{N-1} \sum_{i_2=i_1+1}^N u(i_1, i_2) \\
&= \sum_{i_1=1}^N u(i_1, N+1) + \sum_{i_1=1}^{N-1} \sum_{i_2=i_1+1}^N u(i_1, i_2) - \sum_{i_1=1}^{N-1} \sum_{i_2=i_1+1}^N u(i_1, i_2) = \sum_{i_1=1}^N u(i_1, N+1)
\end{aligned}$$

□

**Theorem II.1:**  $\prod_{i=1}^N (D + f_i)y = y^{(N)} + \left[ \sum_{i=1}^N f_i \right] y^{(N-1)} +$

$$\begin{aligned}
& + \sum_{m=1}^{N-2} \left[ \sum_{i_1=1}^{m+1} \sum_{i_2=i_1+1}^{m+2} \dots \sum_{i_{N-m-2}=N-m-3+1}^{N-2} \sum_{i_{N-m-1}=i_{N-m-2}+1}^{N-1} \sum_{i_{N-m}=i_{N-m-1}+1}^N \left( \left( \dots \left( \left( \left( f_{i_1} e^{\int f_{i_2} dx} \right)' e^{-\int f_{i_2} dx} \right) e^{\int f_{i_3} dx} \right)' e^{-\int f_{i_3} dx} \right) \dots \right) e^{-\int f_{i_N} dx} \right] y^{(m)} + \\
& + \left[ \left( \left( \dots \left( \left( \left( f_1 e^{\int f_2 dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{\int (f_4 - f_3) dx} \right)' \dots \right)' e^{\int (f_N - f_{N-1}) dx} \right) e^{-\int f_N dx} \right] y
\end{aligned}$$

*Proof:*

1st Order HLODE:

$$\begin{aligned}
\prod_{i=1}^1 (D + f_i)U_0 &= (D + f_1)y \\
&= y' + f_1 y = y^{(1)} + \left[ \sum_{i=1}^1 f_i \right] y
\end{aligned}$$

2nd Order HLODE:

$$\begin{aligned}
\prod_{i=1}^2 (D + f_i)U_0 &= (D + f_2)(D + f_1)y = (D + f_2)(y' + f_1 y) \\
&= y'' + (f_1 + f_2)y' + [f_1' + f_2 f_1]y \\
&= y^{(2)} + \left[ \sum_{i=1}^2 f_i \right] y^{(1)} + \left[ \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right] y
\end{aligned}$$

3rd Order HLODE:

$$\begin{aligned}
\prod_{i=1}^3 (D + f_i)U_0 &= (D + f_3) \left( y^{(2)} + \left[ \sum_{i=1}^2 f_i \right] y^{(1)} + \left[ \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right] y \right) \\
&= y^{(3)} + \left[ \sum_{i=1}^3 f_i \right] y^{(2)} + \left[ \left( \sum_{i=1}^2 f_i \right)' + \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right)' + f_3 \left( \sum_{i=1}^2 f_i \right) \right] y^{(1)} + \\
&\quad + \left[ \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right)' + f_3 \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right) \right] y \\
&= y^{(3)} + \left[ \sum_{i=1}^3 f_i \right] y^{(2)} + \left[ \left( f_1 e^{-\int f_3 dx} \right)' e^{\int f_3 dx} + \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} + \left( f_2 e^{-\int f_3 dx} \right)' e^{\int f_3 dx} \right] y^{(1)} + \\
&\quad + \left[ \left( \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right)' e^{\int f_3 dx} \right)' e^{-\int f_3 dx} \right] y \\
&= y^{(3)} + \left[ \sum_{i=1}^3 f_i \right] y^{(2)} + \left[ \sum_{i_1=1}^{1+1} \sum_{i_2=i_1+1}^{1+2} \left( f_{i_1} e^{\int f_{i_2} dx} \right)' e^{-\int f_{i_2} dx} \right] y^{(1)} + \\
&\quad + \left[ \left( \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right)' e^{\int f_3 dx} \right)' e^{-\int f_3 dx} \right] y \\
&= y^{(3)} + \left[ \sum_{i=1}^3 f_i \right] y^{(2)} + \left[ \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} + \left( f_1 e^{-\int f_3 dx} \right)' e^{\int f_3 dx} + \left( f_2 e^{-\int f_3 dx} \right)' e^{\int f_3 dx} \right] y^{(1)} + \\
&\quad + \left[ \left( \left( \left( f_1 e^{\int f_2 dx} \right)' e^{-\int f_2 dx} \right)' e^{\int f_3 dx} \right)' e^{-\int f_3 dx} \right] y \\
&= y^{(3)} + \left[ \sum_{i=1}^3 f_i \right] y^{(2)} + \left[ \sum_{i_1=1}^{3-1} \left( \sum_{i_2=i_1+1}^3 \left( f_{i_1} e^{\int f_{i_2} dx} \right)' e^{-\int f_{i_2} dx} \right) \right] y^{(1)} + \\
&\quad + \left[ \left( \left( f_1 e^{\int f_2 dx} \right)' e^{\int (f_3 - f_2) dx} \right)' e^{-\int f_3 dx} \right] y
\end{aligned}$$













$$\Rightarrow y = e^{-\int f_1 dx} \left( \int e^{\int f_1 dx} \left( \int e^{\int f_2 dx} \left( \int e^{\int f_3 dx} \left( \dots \int e^{\int f_{n-1} dx} \left( c_n \int e^{\int f_n dx} dx + c_{n-1} \right) dx + c_{n-2} \dots \right) dx + c_2 \right) dx + c_1 \right) \right)$$

*Proof:*

By corollary II.1.

□

## References

- [1] Kamke, E.; *Differentialgleichungen Lösungsmethoden Und Lösungen*, 3rd Ed., Chelsea Publishing Company, New York, N. Y.; 1959.
- [2] Nagle, R.K. , & Saff, E.B.; *Fundamentals of Differential Equations and Boundary Value Problems*; Addison Wesley Publishing Company, Inc.; Reading, MA; 1994.
- [3] Nagle, R.K. , & Saff, E.B., & Snider, A.D.; *Fundamentals of Differential Equations*, 5th Ed.; Addison Wesley Longman, Inc.; Reading, MA; 2000.
- [4] Polyanin, Andrei D. & Zaitsev, Valentin F.; *Handbook of Exact Solutions for Ordinary Differential Equations*, 2nd. Ed.; Chapman & Hall/CRC; New York, NY; 2003.
- [5] Zill, Dennis G.; *A First Course in Differential Equations with Applications*, 4th Ed.; PWS-KENT Publishing Company; Boston, MA; 1989.
- [6] SciVee: DOI: 10.4016/28294.01 , <http://www.scivee.tv/node/28294> ;  
<http://www.dnatube.com/video/6899/A-Particular-Solutions-Inhomogeneous-2nd-Order-ODE-Formula>
- [7] Cassano, Claude M.; <http://www.dnatube.com/video/6967/A-Particular-Solutions-Inhomogeneous-3rd-Order-ODE-Formula>
- [8] Cassano, Claude M.;  
<http://www.dnatube.com/video/6968/A-Particular-Solutions-Inhomogeneous-4th-Order-ODE-Formula>

---

Visit some of my site pages to find many of my books, articles, papers, videos and links, here:

<https://independent.academia.edu/CLAUDEMICHAELCASSANO>

<https://www.pinterest.com/cloudmichael/?eq=cassano&etslf=14806>

<https://www.youtube.com/user/cloudmichael11>

<https://www.youtube.com/channel/UCvOBUg1YCPWuF2PZAvdIDWg>

[http://vixra.org/author/claude\\_michael\\_cassano](http://vixra.org/author/claude_michael_cassano)

Visit my author page on amazon.com to find my books available on Kindle in digital and some in print at the website, here:

[http://www.amazon.com/Claude-Michael-Cassano/e/B008MD6CVS/ref=ntt\\_athr\\_dp\\_pel\\_1](http://www.amazon.com/Claude-Michael-Cassano/e/B008MD6CVS/ref=ntt_athr_dp_pel_1)

Visit:

<http://www.barnesandnoble.com/s/claude-michael-cassano?keyword=claude+michael+cassano&store=allproducts>

for my books available on NOOK and some in print at Barnes & Noble.